
Answer Key 16.5
Marks - 10

Case study based questions
10th English

A Tiger in the Zoo
Passage - 1 5 Marks

 Read the following extract carefully and answer the questions that follow. 
 He stalks in his vivid stripes
 
 The few steps of his cage
 
 On pads of velvet quiet,
 
 In his quiet rage. 

 Q1. 4zL The name of the poem is A tiger in the Noo and the poet is 2eslie 3orris. 

 Q". 4:L 5He5 is the tiger. 

 Q:. 4"L He is in rage because he has been put behind bars and conWned to a 
cage. 

 Qz. 4zL The two qualities of the animal are: he has stripes and velvet pads. 

 Q;. 41L He is angry. 

Passage - 2 5 Marks

 Read the following extract carefully and answer the questions that follow.  
 5He should be lurking in shadow,  
 Sliding through long grass  
 3ear the water hole 
  <here plump deer pass.5 
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 Q1. 4:L long grass so that he moves through without being seen. 

 Q". 4"L that the deer referred to here is fat. 

 Q:. 4"L The tiger is hiding in a shadowy dark place in the long grass. 

 Qz. 41L A fat deer is going to be his prey. 

 Q;. 4"L He should be sliding through long grass. 
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Case study based questions
10th English

A Tiger in the Zoo
Passage - 1 5 Marks

 Read the following extract carefully and answer the questions that follow.
 
 He should be snarling around houses
 
 At the jungle’s edge,
 
 Baring his white fangs, his claws,
 
 Terrorising the village! 

 Q1. 3"2 4He4 is the tiger. 

 Q5. 312 He is in a small cage. 

 Q". 352 Snarling 

 QI. 3"2 4He4 should be in the forest. 

 Q8. 3"2 He terrorises the villagers by showing his sharp teeth and claws, and by 
growling. 

Passage - 2 5 Marks

 Read the following extract carefully and answer the questions that follow. 
 But he’s locked in a concrete cell, 
 His strength behind bars, 
 Stalking the length of his cage, 
 9gnoring visitors. 
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 Q1. 3"2 4He4 is the tiger. 

 Q5. 312 He is ignoring the visitors because he is angry. 

 Q". 3I2 Here 4stalking4 means 4pacing4. 

 QI. 352 The tiger is locked in a concrete cell. 

 Q8. 352 The tiger was kept in a cell made of concrete walls and long, strong bars, 
so that he could not escape. 
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Case study based questions
10th English

A Tiger in the Zoo
Passage - 1 5 Marks

 Read the following extract carefully and answer the questions that follow.
 
 He hears the last voice at night,
 
 The patrolling cars,
 
 And stares with his brilliant eyes
 
 At the brilliant stars. 

 Q1. 32z The last voice heard by the tiger is that of cars patrolling. 

 Q4. 34z The tiger heard the voice because he is locked in a cage at a 5oo. 

 Q2. 31z The tiger stares at the stars because he aspires to be free as he is not 
happy in the 5oo. 

 Q3. 34z At night, the eyes of a tiger look bright and shiny. 

 Q4. 32z They look so because of the characteristic of cat family so which they 
belong. 
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